S K OV Lo BR = & ok E %k (SFn 544 H 1 AHE)

1T BUBAE B R
gy, [EARBIIEERES  \HE 2 H e &t P Tk i) b o> Bepl
£ DI _ A) (%) ks WD oo | e | e
Ll [ERAZRSERS 2AT O s 51 12. 8%|E 33 132 33.1%
(Sl 1
Fe i 4
A L 1
T~ Hahi 10
IR R 2
at 51
o [ 2R Rk & R A 2T D WSS 81 20. 3%l = 48 Es
(s (Y 3 i
(St 2
EHREL 1
HE 2
Fe i 3
RE L 2
TR Hhi 20
_ il 81
34 FAE: Ok 93 mx%iﬁ 93 93]  23.3% 4
7t 93 b
Atk |FRER O E RO 82 20. 5%}tz & 21 s2|  20. 5%
B PER 1
£ 47 %
7 {8 4 b
] =AU PH 9
_ _ il 82
54 |PER KR OTE#ORES 56 14. 0%| 3% 50 56 14.0%
T 2 B
e 4 il
_ _ il 56
p 5 T N0 P
6 #k %g%&%g%%ﬁ%ﬁgﬁﬁ@ 29 r%éﬁﬁﬁ% 1 oo 7. 3%
R K OV OIS LSS 7
B35 18 e
R GRE) 1 kR
%FTE (RE) 1 itk
HERE GRE) 1
_ _ at 29
74 [ROWRE SUITROE D 5 7 1. 8%|rF 4 L8y
FHRE (H5R) 3 £
it 7 ﬁ
3 399 100. 0% MW E 25T




S K OV Lo BR = & ok E %k (SFn 544 H 1 AHE)

R bR (1)

gy, [EARBIIEERES  \HE 2 H e XL P93 Tkl b > B
L7 Zoﬂéﬁ_i (AN) (%) k44 (N) (N) (%) B
= E AT
1 [RROME 21 24. 19| B 21 ot o4 1w =
=
g 21 b
—
o [EROWE 15 L [ 15 15| 170wz
s
g 15 b
pT=3 J—w& = . Jﬂ?’k
g [FPROIE TR OIED SIS 34 39. 1%| AT E 6 48] 55. 9%
B 28
it 34 0
— — — s
o |FEEZR NG L BB A E T D ED o| 5 %
AR s AT O > 2 W 14 16. 1Rl EAEAb R 3 =
FIFeS 11
B 14
N = J‘\?k
5 #k ; g%ﬁg%g 3 3. 59| 1 g IR -
I et
Rt 2 ﬁ%
F 3 "
7 87 100. 0%




SR K OV E O BERE T E OB S (B 54FE 4 H 1 HETE)

R R (2)

megg, [ R I HLE S 5 e it MR Tk 1 0> Bk
&7 DR (A) (%) 4 O | 0 | %) | B
Ti% Vb O T Wa PR 2 2] 5 4. 1Rt 1 5| 41
O BT O O I 18 B 0O ik %ﬁft
e 33 3
SR |
_ #t 5
24 |1 FEAID OURES 39 31. Tl R ALt 4 39 31.7%
2 B R A B 5 R . .
sy e i R |
s |
SRR |
B R 9 2 8
B bR T2t 4
R 8
(G2 3 =s 2
B s 2
5 2 (i 1 %
SRS 5 pes
BT 2
#t 39
3 #% lﬁgﬁxmﬁﬁ%ﬁféﬁﬂ% 23 18. 7%|H I 6 23| 18.7%
DI%kF N }
2 A T SRR A B Sl 3
BRI B O RS B R 9 2 2
g AR ER 1
WK T2t 1
L 3 |
R 4
Rt 2
B s 1
SRS 2
_ #t 23
4% |FEEONS 14 11 4% 531 14 14] 11, 4% &
(%
) ) 3 14 S
5k %&ﬂﬁxiﬁ\%ﬁﬁwiﬁ@ 37 30. 1%fFTE GRE) 1 37l 30. 1%
175 N
2 TR & AR Y i 10 o
(TR 3= 6 %
i R
B 17 Wik
E(T 3
7 37
6k |1 AR OIE 4 3. 2ufRHE 2 al sl s
o A L B T 5 R k ik
5. ERROEHRHRE - ThO EELS 2 K
Tk B 4 *
TH |1 EDRBCIIT Ak Ok ] 0. SHRIET = 1 i o8 ..
2 ESREATE R E O LA
3 AN L R B B 3K A i
IR O B T ik
it 123 100. 0%




S K OV Lo BR = & ok E %k (SFn 544 H 1 AHE)

R (3)

gy | RS 22\ B 5 M e &t R T £ 7> B
UL omaE (N) (%) T4, oo | oo | oo | e
14 A FERT D NBS 0 0. 0% — — 136]  35.4%
ok |1 B O 136 35. 4| ate i 128 p
2 R IR A B BT \ il
bl O Tk B PE 8 pes
_ 2 136
3# |1 EALOWE i 160 41. 6%|F:AF 16 160]  41.6%
2 IR LR & Y 5 B N +
DS R 135 i
B PE T 9 @
_ _ 2t 160
afk |1 BRORES 79 20. 6%|fifiF 16 79| 20.6%
2 HiENRELORE i
3 EEA Y R A ET S e AU 20 *
- DRk FAF 41 i
E el 2 i
. B 79
5 |1 FESRERR OB 8 2. 1%|FHR: 5 8 2. 1%
2 FEEMEOWE i 5 YR
3 EEA R L R % T B A EE
R OIS RIF & 1 P
2 8
61k |1 Albik DRk 1 0. 3%|n 1 | o.3u
o TR O Al
3 AR L R B 5 E be s
LRI O K
- - W
2t 384 100. 0%




S K OV Lo BR = & ok E %k (SFn 544 H 1 AHE)

TBE T B ke Bk 2

gy, [EARBIIEERES  \HE 2 H e &t PR Tkl b o0 Be
i _ A) (%) ks WD oo | e | e
1k [ERERIZR SRS 21T O BREJT Fs ik 4 8. B% |z 1 6] 12.8%
P 2 %
o [FREET o > ol ” ps
F 2
3i% |1 ELOW 35 74. 5%\ 3-SR AT 2 35| 74.5%
2 PEHRE L R A B A X
RES Tk ELBTF 5
H+ 1 5
S BT 11 1
T 6 *&
B F 10
_ _ &t 35
4% ; %ﬁ;%ﬁ?ﬁg%gié\ 4 8. 5%| =4 1 4 8. 5%
Eoms - A AT :
T AT 1
EATTH PR 1 ®E
éfﬁ i g
_ _ _ i 4 e e
54 |RERERERBREET HMRE - 2 4. 29%5WzE 1 P 4. 9%
BEEt0) 5 .
T 1
F 2
F 47 100. 0%




